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PART - A (20 x 1 =20 Marks)
Answer ALL Questions

1. The descriptive property possessed by each entity set is _
(A) Relation (B) Attribute
(C) Model (D) Dataflow
2. The level of data abstraction which describes how data is actually stored is .
(A) Conceptual level (B) Physical level
(C) File level (D) View level
3.

The databasc design that consists of multiple tables that are linked together through matching data
stored in each fable is called

[
(A) Hierarchical database
(C) _Rclational database (12} Ohiect oriented database
Whi ‘MM&W&&‘Wﬂwbﬁéa inistr. g

(A) Converting query form to relationa] (B) Schema dcﬁ‘nitibn
algebra

(©) Granting user authority to database

(B) Network database

(D) Acting as liaison with users

5. An abstraction concept for building composite object from their component object is called

(A) Specialimtif)n (B) Normali’/f'ltion
©) Generalization (D) Aggregation
1 1 / { i . . T IQ 1 J ?
. - the following is the syntax for views where *V' is view name . _
o WhICh o tt}:: view V as query name (B) Create “Query expression” as view
g (A) greate 4 iC\V V as qucry CXPTCSSiOH (D) Create view query cxprCSSiOI]
R , reate v ’ . .
. © Operations, denoted by, allows us to find tuples that are in one relation but are not in
= THE e i
another. (B) Sct dlﬂcg‘cncc
(A) Union (D) Intersection
i ercnce -4 - 4 » ] 3 g - ” v .‘
© Difft  fio 8 foreignkey ifthe _____ key from one relation is used as an attribute
i in a reke
An atmbutc: 1 | ' |
= in that relation (B) Primary
(A) Candidate (D) Sub
~. al 1r
(O) PPE

- 20), budget. number (10)); inorder to ensure
, ber (5), name varchar 2 (5. &0  used”
~reate table FAraEr (H')sr:::)[g-neaativc, which of the following bl.] mii;j pesed?
2 f{,rﬂt the valuc of buc:gC(;)l " (B) Check"(bx;dg.t“;) )
of 2> " wdeet <
(A) Lhccilgg:;gftt >0) (D). After, (D08 FINEIA/SISITI0)
: jter '
c) A

a1



10. All aggregate functions excepl _______ignore null valye in thejy ;
(A) Count (attribute) (B) Count (+) lmp“lco]lecti(,
(€) AVG (D) sum "

Select emp_name from department where dept name [jke ¢

11.
following has to be added into the blank to select the dept namhc}? B Whicy,
- ﬂS ‘CSF,
"

string;? :’_ne of
© | D) $ :
12. In SQL, the word ‘natural’ can be used with
(A) Inner join mﬁ sk
o i oute
(C) Right outer join (D) Full out errjj(;l:
13. Functional dependencies are the types of constraints that are based o
(A) Superset key (B) Key
(C) Key-revised (D) Atomicity
14. Which forms simplifies and ensures that there is minimal dat iti
(A) 1NF g ala aggregates and repetitive groups?
(C) 3NF (D) BCNF

15. Tables in second normal form

(A) Eliminate all hidden dependencies (B) Eliminate the possibility of insertion

anomalies
(D) Have all non-key fields depends on primary

(C) Have a composite key
key

16. Which of the following is not an Armstrong’s axiom?
(A) Reflexivity rule (B) Pseudo transitivity rule

(C) Augmentation rule (D) Transitivity rule

transactional integrity and database consistency, what technology does 2

17. Tn order to maintain

123N deploy?
(A) Triggers B) Pointers
(©) Locks (D) Cursors

18. When transaction Ti requests a d j, Tii

. ‘adata jtem currently held by Tj, Ti is allowed to wait only if i
timestamp Ia_rger than that of Tj. Othcrwisce Tj is rolled back is called . ¥k has g
(A) Wait-die T (@) Wait
(C) Wait-wound (D) Wound-wait

19. With multiple disks, we can improve the transfer rate as well by data acros§ I
——— mu ﬁp\e

disks.
(A) Striping (B) Dividing
(C) Mirroring (D) Swapping
20. The __ scheme uses a page table containing pointers to all pages, the page table jtself and
updates pages are copied to new location al
(A) Shadow copy (B) Shadow paging
(C) Update log record (D) Rollback
PART — B (5 x 4 =20 Marks)
Answer ANY FIVE Questions

21. Compare FPS and DBMS.
22. Diagrammatically explain the overview of query processing steps.
PINFIASISITN
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23. Write a SQL query to di
ot i disp all recor i
] l“)’ all vecord whoge first namo ends with letter ‘n’.

ii. Find out-the average salary of
3 Ill_\ of all the Clnpl“yCL‘S in CllCh dcpill'lmcnl, Write a query for the above

seenario.

24, Brief about 3NI with an example.
25. Explain about shared and exclusive Tock modes

26. What is deferred DB modification? Give an example-

1O . .

27. Compare primary key, candidate key and super key with example.

PART - C (5x 12=060 Marks)
Answer ALL Questions

atabase system with neat sketch.

#N

o) e, P :
28.a. Explain about the functional components of d

(OR)

b. Construct an ER model for the following case stucy
Requirements of the company: The company 1
has a name, 1D, and an employee who manages the dep?

of the department manager.

- Each department contro’s,
is located at a single location.

- Each employee has SSN, date_of birth, salarys sex and address. Each em
one department but may work on several projects.

aay have a number of dependent. For each dependent, We Keep. track of

rthdate and relationship to employee.

udy: .
s organized into departments. E

rtment. We can keep track

ach department
of the start date

rols the number of projects- Each project has a name, number and it
ployee works for

_ Each employece 11
their name, sex, b

29. a. Convert the following ER model into tabular representation

Menu ‘

Res_table Restaurant
<>

(OR)

Vg irin 2
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Write short note on

(i) Views i
(ii) Select, project and rename OPErtions of relationg) algebra wit)
HEEDTA With an example.

30. a.i. Explain about embedded SQL with suitable CXample,

(% Marks)
ii. Brief about check and default constraints With suitap)e examples, (4 Marks)
(OR)
b. Write SQL statements for the following:
Table structure:
Sales person: (Sid, name, age, salary)
Customer: (Cid, Cname, city)
Order: (O id, order data, Cid, Sid, amount)
i Display the name of salesperson > in the
Eig) S ;)nvz - Custeo 1(; esrfxcen )}: s “B\;r:ga?(r)c in tl;e age group ranges from 35 to 48
g rc the customer who place 01-
TUN-2017° o places the order on "01
(iii) Fi}ld the number of salesperson whose salary greater than average salary
@iv) Display the name of salespersons whose name contains ‘a’ and ‘n’
V) Find the sum of the amount as total amount for each customer where the total amount is
greater than 10000
(vi) Find the names of salesperson who have two or more orders.

31.a. Explain about INF and 2 NF, 3 NF with suitable examples.

(OR)

b. For the following schema find 3N

Student

Regno \ Sname \ Address \E—M\ Cname \ GPA X
| 1 1

XFD\.

- 'XX —
\ 1

(OR)
b. Write short notes on

1 rties
Transaction prope
83) Deadlock prevention schemes

% % k * ¥



